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$#include <iostream>
using namespace std;
int main()

char a[80],1i,k=0,1=0,mn=0,n=0;

cout << "enter an expression which contain ({[N\"}) }"<<endl;
gets(a);

for(i=0;a[i] '=0;1i++)

if{al

1]="{")kt++;
ifjali]l=="}")k--:
ifja[i]=="[")1++;
if(a[i]="]")1l--;
if(a[i]="(")n++;
if{a[i]==")"}n--:
if(af[i]=""")m++;
¥

if(k'=0)put=("{,} mi==z match."):;
if(l'=0)put=s("[,] mi=z=z match."):;
if(n'=0)put=("(,) mi=z=z match."):;
if(m%2 '= O0)puts("\" miss match."): ol S
} enter an expression which contain (CLY323

T " LB+ (LB +[[8B27]1+(5->
CARPARDR U [.] mizs match.
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uZing namespace std: -
#define £ =iz 5 &Db ——
#define s siz 15 ’
int main()

char a[f =iz][= =siz],t[= _=iz];
int i,Jj-
cout<<"\nEnter ten name:\n";
for(i=0;1i<5;1i++) {
cout<< i+l << "th:";
cin.getline{a[i] ,20);

}
Enter ten name:
£oT (1=1;3<E_51Z;1+4) 1th:amir
_-|‘-Ei:”'|:j=':"j{f giz-ir;j++) Et}]:amll‘lall
P ' Jth:Amir
if (stremp(alil,ali+1]) >0 dth:Amirre=za
- L Lthiamirreza
strcpy(t,alil): -
strepy(alil,ali+1l1): 1 Amir

strcpy(al[j+1l].,t):
}
¥
}
for (1=0;i<f =iz;i++)
cout<< i+l <"\ o"<< al[i]l<<endl:;

Amirreza
amirr

2
3
4] amirali
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getline (char* s, streamsize n ); cin.getline() -
getline (char* s, streamsize n, char delim );
get ( char& c J; Cin.get() o
get ( char* s, streamsize n );
get ( char* s, streamsize n, char delim ) ;

cin.ignore()
1gnore | streamsize -, Int delim ); /-’/@NC)A//Oopmd /38 ol

j%:ﬂcba’laLJ'@VU/@/JQ#”)”&WB.
25
putback ( char c ); _ "g?a‘
cin.putback()

y2b Cmb b Yo jos foyC 358
Sl Cp i |y opS o)b/d/@ cin.peek()
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#1lnclude <lostream=
‘int main () {

char first, last;
std::cout << "Please, enter your first name followed by your surname: ";

F

first = std::cin.get();
std::cin.ignore(256, )

last = std::cin.get();
std: :cout << "Your initials are " << first =< last =<

return ©;

Please, enter your first name followed by your surname:
Your initials are AM

csuRPanlp csSlw



Using peek() and putback() QJ I |
finclude <iostreams>
using namespace std;

int maini()

char ch;
cout << "enter a phrase: ";
while ( cin.get(ch) )
if (ch == "!"}
cin.putback('z"):
else
cout << ch;
whnile (cin.peek() = 'F')

cin.ignore (1, "#"'):
¥

recturn 0:

enter a phrase: * we wantHto Htest thist file.

Thiz iz a te=zt% we wantto tezt thi=z$% file.
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putback =-—

iztream putback
#include <iostream>
using namespace std:;

int main ()

char c;

int n;

char str[256]:

cout << "Enter a number or a word: ";
c = cin.get():

if ( (c >= '0") && (c <= "39") )

Enter a numbher or a word: 234

cin.putback (c):
cin >»> n;

?uu have entered numbher 234

cout << "You have entered number " << n << endl;
¥
el=e

cin.putback (c):

cin >> 3tr;

cout << " You have entered word " << =str << endl;
¥

Enter a numbher or a word: Hello
You have entered word Hello

return 0O;

30 Panbp ol




peek =-—

iztream peek
#include <iostream>
using namespace =std:

int main ()
char c:
int n;
char str[25e];

cout << "Enter a number or

c=cin.peek() ;

if ( (e o»= '0') &&

cin 3 omng

cout << "You have entered number

¥
gelse

cin > str;:

cout << " You have entered word "

return 0.

Fonaaolio «3lo
o J VACED 2 .

a word:

nter a numher

r

<< n << endl:;

<< stLr << endl:;

oxr

a Wil

You have entered word Hello
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(..an)>)) pualin =—

230 albdly 15 )y )5\ e

char letter;
short number;
float amount;

etlter numlber amolunt
I l I
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int main()

short x = 2
cout << "The addres=s of x iz " <<{&x<< endl:;

cout << "The size of ® i3 " << sizeof(x) << " bytes\n";
cout << "Th
return 0;

}

[]
r

m tn

m

value in x iz " <<€ ®» << endl:;

The address of x i= HA12FF2Z8
The size of x iz 2 hytes
The value in x is 25
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int ~ptr;

319300 A5 Gl )\So)lnl (i j) (s)acis ptroe
239 (5)1sal85 1y int 3y gwys)

int main()

int x = 25; The value in x is 25
int *ptr: The address of x iz HHA1
ptr = &x; // Store the address of X in ptr

cout << "The wvalue in =x is " << = << endl:;

cout << "The addresszs of = iz " << ptr << endl;
return 0;

¥
ptr = &x;
X
25
ptr T )
0x7e00 Address of x: 0x7e00 "
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NELs Cubls )33 )3 01930 gN9) JAb OI8)5 YA ) b °
a5 COUNt p&is @ eadlwsps Oygpo @ countPtr
Aaladg,e o)lin) asls 5o 504 )3 1y V )lais

P -
MR M Hint *countPtr, count:
—m= 7

imt v = 5; J/S declasre varisbhbls

inmt *yPtr; /S declsre pointer wvarishkhbls ywPEr

vEBtr = &y, S assign sddress of v to yvFPier

vPtr i

Taocation lacation
500000 GURIOU &00000 * 19
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reference operator

Mlaie ponas
304 siglac Obgias a5 Cuwl (35 yalac A3 * lgias \Blac —
dereference operator

Slaie onal )

andy
andy = 25; 25
fred = andy:; 1775 1776 1777
ted = &andy; 4 e\
fred ted
25 1776
ted
1776 ; T
. 3 ab
1775 1776 1777 (memory) =
25
beth = *ted; : ' (S
— : 25 P
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int main{()

int x = 25;
int *ptr;

ptr = &xX; // 5Store the address of X in ptr
cout << "Here i= the wvalue in X, rinted twice:\n"
cout << X << " " << *ptr << endl;

#*ptr = 100;

cout << "Once again, here is the wvaluese in x:\n"

cout << X << " " L *ptr << endl;
return 0;
¥

Here is the value in x,. printed twice:
25 25

Once again, here iz the value in x:
188 184
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// my first pointer
#include <iostream>
using namespace std;

int main ()

{
int firstvalue, secondvalue;
int * mypointer;

mypointer = &firstvalue;

*mypointer = 10;

mypointer = &secondvalue;

*mypointer = 20;

cout << "firstvalue is " << firstvalue << endl;
cout << "secondvalue 1is " << secondvalue << endl;
return 0;

firstvalue is 10
secondvalue is 20




int main/{)

= 25, v = 50, =
int *ptr;

cout << "Here are the wvalues of =, v, and z:\n";
cout << X << " " gL vy << " " Lz << endl;

ptr = &X;

*ptr %= 2;

ptr = &V;

*ptr %= 2;

ptr = &Z;

*ptr %= 2;

cout << "Once again, here are the wvalues of =, v, and z:\n";
cout << X << " " L oy << " " Lz << endl;
return 0;

h Here are the values of x. vy, and =:
20 58 75

Once again, here are the values of %, y, and z:
58 148 158
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// more pointers
$include <iostream>
using namespace std;

int main ()

{
int firstvalue
int * pl, * p2;

2

= gfirstvalue;

= gsecondvalue;
10;

*pl = 20;

secondvalue =

//
//
//
//
//
//

15;

address of firstvalue

address of secondvalue

10

value pointed by pl
(value of pointer 1is copiled)

20

pl =
p2 =
value pointed by pl =
value pointed by p2 =
pl = p2
value pointed by pl =

cout << "firstvalue i1is " << firstvalue << endl;

cout <<
return 0;

"secondvalue 1is

" <& secondvalue << endl;

firstvalue is 10
secondvalue i1s 20
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char *mychar;
short *myshort;
long *mylong;

slaguys! b adbsls sloplis @ W) @ )5)

0 a9 D)Lﬁ)\ Wooo U.pé.&m 0 Pooo 0 looo
;o0 atinly

mychar++;
myshort++;
mylong++;
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Gy char oains elwaw Sy exS gd)d )5k
s3lad Jlasi) 1y cub ylea long g gs short b
1000 1001 :Cub s eunloh

—
lll}“Char—T ++

2000 2001 2002 2003

myshort — ) 44

3000 3001 3002 3003 3004 3005 3006 3007

— :
mylong I ++ Py
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*(numbers + 1) isactually *(numbers + 1 "2
*(numbers + 2) isactually *(numbers + 2 *
*(numbers + 3) isactually *(numbers + 3 *

Sizeof(short)

numbers [0] numbers[1] numbers[2] numbers [3] numbers [4]

)
)
)

2
2

’---

: : : | s
t t | t

) S RHIRRIR, (numbers+l)  (numbers+2) (numbers+3)  (numbers+é) H
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int numbers [20]; :ML') bl )5\
int * p;

elg3 (0 s a3 alyl paic gl guysT aglyl @b a5 Lail )
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| int main()
short numbers|[] = {10, 20, 30, 40, S0}

cout << "The first element of the array i=s ";
cout << *numbers << endl:;
return 0O: The first element of the array iz 1

}

numbers [0] numbers [1] numbers (2] numbers [3] numbers [4]

f

numbers
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Int *p;

Inta[5] = {10, 20, 30, 40, 50};

p=a;
a[0] —= *(at0)—="p ——= 10

a[l] ——= *(a+l)=—= *(p+1)——= 20
a[2] ——= *|a+2)——= *(p+2)———— 30

a[3] ——= *(a+3)=—= *(p+3)—= 40

al[d] ——= *(a+d)—= *(p+4)——= 50
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int main/()

const int S5IZE = 5;
int nmumber=s[51IZE]:;
int count;

cout << "Enter " << 5TZE << " number=s: ":

for (count = 0; count < SIZE; count++)

cin >> * (numbers + count);

cout << "Here are the numbers yvou entered:\n";
for {(count = 0; count < 5IZE; count++)

cout << ¥ (number=s + count)<< " ";

cout << endl: L number=z: 18
return 0;
¥

U

Here are the numbhers you entered:

18 28 38 48 58

array [index] is equivalent to * (array + index)

C++ ostaiwl g50)lid] jl a5 f0lTio 5)Isi wlyT slojro (s9) W (s

Soth o)l alyT (5039300 1 g)l6 Lwys T @y Cuwl 1340 3940

s Panbp e




int main()

const int NUM COINS = 5;

doukle coins[NUM COINS] = {0.05, 0.1, 0.25, 0.5, 1.0%;

double *doublePtr; Pointer to a double

int count; // Array index

doublePtr = coins; doublePtr now points to coins array

cout << "Here are the wvalues in the coins arrav:\n";

for (count = 0; count < NUM COINS; count++)
cout << doublePtr[count] << " ";

cout << "\nind here they are again:\n";

for (count = 0; count < NUM COINS; count++)
cout << *(coins + count) << " ";

cout << endl;

return 0;

¥

Here are the values in the coins
H.HW5 B.1 A.25 A.5 1

And here they are again:
.85 A.1 A.25 A.5 1

Cywé.()j‘mu}). ool
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int main()

const int HUH_CDIHS = L=

for (count = 0; count < NUM COINS; count++)

doublePtr = &coins[count];
cout << *doublePtr << " ";
H
cout << endl;
return 0;

}

double coins[NUM COINS] = {0.05, 0.1, 0.25, 0.5, 1.0%;
double *doublePtr; // Pointer to a double

int count; // Array index

cout << "Here are the values in the coins arrav:\n";

Here are the values in the coins array:

H. B> A.1 B.25 B.5 1
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double readings([20], totals[20]:
double *dptr:;

dptr = readings; // Make dptr point to readings.[
dptr = totals; // Make dptr point to totals. | A4,

readings = totals; // ILLEGAL! Cannot change readings :
totals = dptr: // ILLEGAL! Cannot change totals gg"eg
E)
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e M=&n (M receives the address of n)

A00 «ErJaSes «k» o @

Q=M (Q receive the value at address M)

Eetor
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finclude <io=stream>

using namespace std;
int main{()

int a; a i=s an integer
int *aPtr; // aPtr i=s an int * —— pointer to an integer
a = 7; assigned to a
aPtr = &a; " as=2ign the addre=ss of a to aPtr
cout << "The addres=s of a i= " << &a
<< "“nThe walue of aPtr iz " << aPtr;
cout << "\nynThe wvalue of a iz " << a

<< "YnThe wvalue of *aPtr is " << *aPtr;
cout << "\n\n

b |
i
LA

howing that * and & are inversezs of "

<< "each other.\n&*aPtr = " << &¥*aPtr
<< "‘\n*LaPtr = " << *faPtr << endl:;
return 0; S/ 1ir i1
y // end main address of a is HB12FFZ8

value of aPtr iz BH12FF28

value of a 1s 7
value of =aPty iz 7

Showing that * and & are inverses of each other.
a=*aPtr = HA1ZFF28
s Panlp ¢Sl *HaPtr = HA1ZFF28




g

more pointers
#include <iostream>>

u=sing name=space =std:

nt main

()

iy I—"

int nmnumber=s[S] :
int * p;

Ccont << P44 O

I gty

P = numbers:;

w* = 10;

P4+

*n = 20;

p = &numbers[2]

*n = 30;

P = numbers 4+ 3

*p = 40;

P = numbers:

*(p+42) = 50;

for (imt n=0; n<5S; nt++)
cout << number=s[n] <<

cout<< "hW\m'";

for (imt n=0; n<5S; nt++)

ri T =
" I

]

r

i

Jio =

28, 38, 48, L4,

28, 38, 48, L4,
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